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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 38 questions. All questions are compulsory.

(it) This Question Paper is divided into FIVE Sections — Section A, B, C, D
and E.

(iti) In Section—-A question number 1 to 18 are Multiple Choice Questions
(MCQ®s) and question number 19 & 20 are Assertion-Reason based

questions of 1 mark each.

(iv) In Section—-B question number 21 to 25 are Very Short-Answer-1 (SA-I)

type questions of 2 marks each.

(v) In Section—C question number 26 to 31 are Short Answer-II (SA-II) type

questions carrying 38 marks each.

(vi) In Section—-D question number 32 to 35 are Long Answer (LA) type

questions carrying 5 marks each.

(vii) In Section—E question number 36 to 38 are Case Study / Passage based
integrated units of assessment questions carrying 4 marks each. Internal

choice is provided in 2 marks question in each case-study.

(viit) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section—-B, 2 questions in Section—-C, 2 questions in

Section—-D and 3 question in Section—E.
(ix) Draw neat figures wherever required. Take m = 22 wherever required if
7

not stated.

(x) Use of calculator is NOT allowed.

30/1/1 AN Page 3 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Qusg - h

(SEfarpeda a9)

TAS I 1 FAF T2 |
1. g9 p(x) % fTT y = p(x) T U e T 8 | 39 T T 95UE p(x)  JAh hl HEAT R :

i
x'€ O/\ > X
/ y = p(x)
y
A 3 B) 1
€ 2 D) 0

2. ko198 A, fees foTe avfieton o I ka = y + 2 TUT 6x = 2y + 3 % TURfHd €4

FIHEARAE, B :
(A) k=3%] (B) HETER |
(C) k=-3%1 D) k=42

3. afep—1,p+13MW2p+3THAP.%dHFATEICE, A p HTUF B
@A) -2 B) 4
€ 0 D) 2

4. Tagati A3, 6) 3R B(-12, —3) ! S dTet WS Hl -3& ThH IO § fowiiod

HTATR ?

A 1:2 B) 1:4

©) 4:1 D 2:1
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SECTION - A

(Multiple Choice Questions)

Each question is of 1 mark.

1. The graph of y = p(x) is given, for a polynomial p(x). The number of zeroes
of p(x) from the graph is

1
x'€ O/\ > X
/", y =p)
y
A) 3 B) 1
©) 2 D) 0

2. The value of k for which the pair of equations kx =y + 2 and 6x = 2y + 3
has infinitely many solutions,

A isk=3 (B) does not exist
) isk=-3 D) isk=4

3. Ifp—1,p+1and2p+ 3arein A.P., then the value of p is
A -2 B) 4
© o D) 2

4. In what ratio, does x-axis divide the line segment joining the points
A(3, 6) and B(-12, -3) ?

A 1:2 B) 1:4
© 4:1 D) 2:1
30/1/1 AN Page 5 P.T.O.
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5 @ 7 3Tepfa H, g O IS I W PQ Tk TH-t@T ® | Afg LAOB = 95° &, @1 ZABQ
1 {19 BFT

A 47.5° B) 42.5°
(C) 85° D) 95°

4sin A+3cos A
6. 2tan A=3%, T HH
A2 tan 8 4sin A —3cos A g

7 1
A — B —
A) NE B) N
C) 3 (D) Higg &2 |
7. ?lﬁa@?lap(x)Zx2+x—la5W(x3ﬁ'{[3§,?‘ﬁl+%W%
o
A 1 B) 2
-1
© -1 D) -
8. ko1 98 =au gTewesh U, Tk fotu fgama afientor 222 + kx — 4= 0 F Ui g E, 7
(A +242 B) 2
©) *2 D) 2
9. {%tanz 30° — sec? 45° + sin? 60°]W%
5
@ -1 B) o
-3 1
© > D) n
10. 5 cm TS % Teh o I a5k JEF &% 94.2 cm? 7 | 39 dH 6 Brsan g -
(n = 3.14 =fifST 1)
A 2cm B) 3cm
30/1/1 AN Page 6
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5. In the given figure, PQ 1is tangent to the circle centred at O.
If ZAOB = 95° then the measure of ZABQ will be

0]
95° P
A B
Q
(A) 47.5° B) 42.5°
() 85° (D) 95°
6. If2tan A =3, then the value of 4 S}n A+3cos A is
4sin A —3cos A
7 1
A — B) —
@A) NE] B) 3
<) 3 (D) does not exist
7. If a, B are the zeroes of a polynomial p(x) = x%2 + x— 1, then 1 +1 equals to
o
@A 1 B) 2
-1
C -1 D) —
© D) 5

8.  The least positive value of k, for which the quadratic equation 2x%2 + kx—4=0
has rational roots, is

(A) *242 ®B) 2
€ +2 D) 2

9. {% tan? 30° — sec? 45° + sin? 600] is equal to

A -1 B)

-3
© - D)

= |

10. Curved surface area of a cylinder of height 5 cm is 94.2 cm2. Radius of the
cylinder is (Take n = 3.14)

(A) 2cm B) 3cm
30/1/1 AN Page 7 P.T.O.
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11. = feam gam sieq 80 foranfi= gra, wes wiem ®, yTwq 37eh] <l g2 @ -
T 10 A 57|20 Y HH|30 T HH| 40 T HT|50 T HT |60 Y HH
Terenfola <t s 3 12 27 57 75 80
3 2 T TgAh I 3 -
(A) 10-20 (B) 20-30
(C) 30-—40 D) 50-60
12. ﬁw7cm3ﬁ1¢ﬁ1§24cm%@ﬁ§ﬂﬂwwm%:
(A) 528 cm? (B) 1056 cm?
(C) 550 cm? (D) 500 cm?
13. faigaii (0, 2+/5) 3 (245, ) FFahrgh 2
(A) 2410 7 (B) 4410 35
(C) 2420 78 D) 0 35S
14, ﬁmﬁﬁqaagqaaaw—gaﬁxgg?
(A) 4x2-9 (B) %(9x2 + 4)
(©) x2+% D) 592 —4)
15. afe us AifeTehl 3tihgi & Tish Yegur < A | 3 <6 Ifg T & A, 1 TRl 1 "
(A) FCAATTER | B) H3HIGR A F |
(C) HeHIGRATIR | (D) 3nHIIFGR AR |
16. b "1 o Hied B o1 IRkl ‘p’ 3T 3Heh 7 ¥4 I TIRehdT ‘g’ 7, d p’ 3R ‘q’ 1
ey B
A ptq=1 B) p=1,q=1
€ p=q-1 D) p+q+1=0
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11. The distribution below gives the marks obtained by 80 students on a test :
Less Less Less Less Less Less
Marks
than 10|{than 20 |than 30 |than 40|than 50|than 60
Number of Students 3 12 27 57 75 80
The modal class of this distribution is :
(A) 10-20 B) 20-30
(C) 30-40 (D) 50-60
12. The curved surface area of a cone having height 24 cm and radius 7 cm, is
(A) 528 cm? (B) 1056 cm?
(C) 550 cm? (D) 500 cm?2
13. The distance between the points (0, 245 ) and (—2\/5 ,0)1s
(A) 2410 units (B) 4410 units
(C) 2+/20 units D) o
14. Which of the following is a quadratic polynomial having zeroes _?2 and % ?
A) 4x2-9 ®) % ©22 + 4)
2,9 2
©) «x +Z D) 59x*—4)
15. If the value of each observation of a statistical data is increased by 3, then
the mean of the data
(A) remains unchanged (B) increases by 3
(C) increases by 6 (D) increases by 3n
16. Probability of happening of an event is denoted by p and probability of
non-happening of the event is denoted by q. Relation between p and q is
A ptq=1 B) p=1q=1
C) p=q-1 D) p+q+1=0
30/1/1 AN Page 9 P.T.O.
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I137I Teh TTgeh UM idl 2 b wficd o 36h JuH qEhR i %1 TTRrehar 0.08 ? | Afe po
6000 femre fesht 21, 1 wigehl 3 forart foehe @it off 2
(A) 40 B) 240
(C) 480 (D) 750

18. 20 SAfkT < Teh | H, 5 AT 0 A&l Tehd & | AfG Teh Al ATge AT I 1T &, al

3G o Fehl oh1 WTRRehal BT
3 1
(A) S B) 3
1
© 1 D) 1

AR - S| Iv
9T HEAT 19 AT 20 T Th AHHUA (A) & 91¢ Th &Rl (R) 3T o fean 2 |
i few e foepedt & & W& forshen g :
(A) (A) qUT (R) gH1 T & a7 (R), e (A) o1 I AT HLT 2 |
(B) (A) 7UT (R) THI Hd &, T (R), 3Trehe (A) <1 Tt =A@ e ot 2 |
©) A &g, 7 R) FTAR |
D) (A) 3T g vElh (R) T § |
19. efirmem (A) : fSig P(0, 2), WM 3x + 2y = 4 3R y-3181 1 Ufeede fag 7 |
FruT (R) : fag P(0, 2) A gl w-a@ T 2315 2 |

20. aAfirReA (A) : 3Tehfd | fgu e Bregst AABC w1 wftmm ueh ufta gen 2 |
HROT (R) : < IR0T G&I1311 o 1 1 TT%et Ueh THHT ST Bl & |

A
2 cm
] C
B 3 cm
30/1/1 AN Page 10
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17. A girl calculates that the probability of her winning the first prize in a
lottery is 0.08. If 6000 tickets are sold, how many tickets has she bought ?
(A) 40 B) 240
(C) 480 (D) 750

18. In a group of 20 people, 5 can’t swim. If one person is selected at random,
then the probability that he/she can swim, is

3 1
A) " B) 3

1
© 1 D) 1

Assertion-Reason Type Questions

In Question 19 and 20, an Assertion (A) statement is followed by a

statement of Reason (R). Select the correct option out of the following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.

19. Assertion (A) : Point P(0, 2) is the point of intersection of y-axis with the

line 3x + 2y = 4.

Reason (R) : The distance of point P(0, 2) from x-axis is 2 units.

20. Assertion (A) : The perimeter of AABC is a rational number.
Reason (R) : The sum of the squares of two rational numbers is always

rational.
A
2 cm
] C
B 3cm
30/1/1 AN Page 11 P.T.O.
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(39 WUE ¥ ifd g ST (SA-I) TRRFAF E | TAR T3 h 2 IH ¢ |)

21. (a) GHHWI x= 33y =— 4 F1 8 A fafer & s Hifsrw |
Jreran
(b) b fofer o w2 g, =g St i for o fe aefienton o1 fem gmma & o 72

x=0,y=-7

22. @ TE AR H, XZ || BC,AZ=3cm, ZC=2cm, BM=3cm IRMC=5cm 3 |
XY bl SIS T hIfST |

23. (a) dAfesin® +cos 6= «/gé,?ﬁsinﬁ + cos 0 T UM A ST |

YAt

(M) A sino= % 3ﬁTcotB=\/§ B, Tl cosec o + cosec B T A AT HIT |

24. g 9EI-Y-9<] G F1d HIfST fSred 85 3T 72 &l W H T HAY: AR 1 37N 2
FME |

25. Th I H 4 &1, 3 Fieft 3R 2 Aieft 7 & | T g I | A=A fenred! I 7
TR 3Td ST T3 o1 g (1) o & (id) eft 2 |
30/1/1 AN Page 12
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= SECTION - B
(This section comprises of Very Short Answer (SA-I) type
questions. Every question is of 2 marks.)
21. (a) Solve the pair of equations x = 3 and y = —4 graphically.
OR
(b) Using graphical method, find whether following system of linear

equations is consistent or not :

x=0andy=-7

22. In the given figure, XZ is parallel to BC. AZ=3cm, ZC=2cm, BM =3 cm

and MC =5 cm. Find the length of XY.
A

23. (a) IfsinO+cos0O= \/g, then find the value of sin 0 - cos 0.
OR

(b) Ifsina= 1L and cot 8 =4/3, then find the value of cosec a + cosec B.

V2

24. Find the greatest number which divides 85 and 72 leaving remainders

1 and 2 respectively.

25. A bag contains 4 red, 3 blue and 2 yellow balls. One ball is drawn
at random from the bag. Find the probability that drawn ball is
(1) red (i1) yellow.

30/1/1 AN Page 13 P.T.O.
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(39 WUE § 1Y I8 (SA-IT) THR % T § | TR I¥ % 3 3 E 1)

26. < HEATIT % =T HI 3MGT 2 7 | I H&AT 1 3T S TLAT S G & AMTHA 13 7 |
HEATE 1 HIT |

27. fagHifu e 5 e sfc den ? |

28. e (=5, 3) 3N (5, 3) Th THaTg B o o1 7id &, a1 der 3 o Fréeries wra shifvr,
e e & foh et foreg Forogst & o wm H 7 1 (V3 = 1.7 <l )

29. (a) g O It g0 W aTel fog T & @1 Tawi-t@d TP 31k TQ &= 3 7 | fag i
6 /PTQ = 220PQ.
p

Q
e

(b) TH I TH FgT ABCD # 3ifera 7, s «B = 90° 2 | 9fg AD = 17 cem,
AB=200m3ﬁTDS=30mﬁ,ﬁﬂﬁsﬁﬁ®TﬂﬁﬁﬁﬁQl

30. farg Eifm fp - tanO+secO—1 1+sin0

"tanO—secO+1  cos®

30/1/1 AN Page 14
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26.

27.

28.

29.

30. Prove that :

SECTION - C
(This section comprises of Short Answer (SA-II) type questions of
3 marks each.)
Half of the difference between two numbers is 2. The sum of the greater
number and twice the smaller number is 13. Find the numbers.

Prove that JE is an irrational number.

If (-5, 3) and (5, 3) are two vertices of an equilateral triangle, then find co-
ordinates of the third vertex, given that origin lies inside the triangle.

(Take /3 = 1.7)

(a) Two tangents TP and TQ are drawn to a circle with centre O from an

external point T. Prove that Z/PTQ = 220PQ.
P

Q
OR

(b) In the given figure, a circle is inscribed in a quadrilateral ABCD in
which ZB =90°. If AD = 17 cm, AB = 20 cm and DS = 3 ¢m, then find
the radius of the circle.

A

tanO+secO—1 1+sin6
tanO—secO+1 cos 0

30/1/1 AN Page 15 P.T.O.
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31. (a) UH HUY Uh S b BRI b1 g b FT T LA T[og FALRUd 7 |
AHMA & MR H B, doqeeR T f SaE f omft 8 | afe =R o

(%jm?»gmﬁ,aﬁwaagaﬁmaaﬁm (F 2 A |)
YA
(b) Tk T Wi sl 3T 3 cm 3T 4T 12 cm B | 39 9isp T TT3HEM 39 TR
uﬁaﬁ%%%%ﬁaﬁ%@sﬁ@s@%mw&ﬁwi s

& 9 TS § W IFH b W Th AT FHR H SHhIT & | 33HhT 61
T FTA hITT | (n = 3.14 T 1)

Qs -9

(38 @uE H " 3909 (LA) THRF T E | TAF I H 5 H 2 1)
32. AT fereht Fst sht Toh YIS o WHICR 311 Q& St i T=1-fret foigati w wfiesed &
% foru wifern W, i firg shifsTe fop 311 €1 iTd weh &t 3gara 3 forfira 2t 2 |

33. (a) U HHR  Te-Tog & 24 m et goL HHR % FRIGR &1 3= 101 60° 2 3R 24
m et gEdt HAR % e-famg & weelt HAR W firet @1 3= ww 300 ' 1 @
HHAT o o= 1 gl 3TR Tgelt FHR 1 St T hIT | SF1 HFR o e

ST ool a1 &eTs ot STa HIfST |

AU
(b) =T ¥’ T U AR T[T Teh &7 I 3AT@ T 60° T HIVT AN HLdT & |
T I8 hg T N HIVT IET fg T 45° 7, T g HIRTT 6 TR o hg H1 s

3Heh Brea s V2 TR |
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31. (a) A room is in the form of cylinder surmounted by a hemi-spherical
dome. The base radius of hemisphere is one-half the height of

cylindrical part. Find total height of the room if it contains (1;(1)8) m?3

of air. (Take = % j

OR

(b) An empty cone is of radius 3 cm and height 12 cm. Ice-cream is filled

th
in it so that lower part of the cone which is (%) of the volume of

the cone is unfilled but hemisphere is formed on the top. Find
volume of the ice-cream. (Take n = 3.14)

SECTION -D
(This section comprises of Long Answer (LA) type questions of
5 marks each.)
32. If a line is drawn parallel to one side of a triangle to intersect the other
two sides at distinct points, prove that the other two sides are divided in
the same ratio.

33. (a) The angle of elevation of the top of a tower 24 m high from the foot of
another tower in the same plane is 60°. The angle of elevation of the
top of second tower from the foot of the first tower is 30°. Find the
distance between two towers and the height of the other tower. Also,
find the length of the wire attached to the tops of both the towers.

OR
(b) A spherical balloon of radius r subtends an angle of 60° at the eye of
an observer. If the angle of elevation of its centre is 45° from the
same point, then prove that height of the centre of the balloon is V2
times its radius.

30/1/1 AN Page 17 P.T.O.
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34. 14 cm B 916 U g9 A1 UH ST I 6 g W 60° HT BT T 7 | HIG AG A

WU T AFHE 1A I | 37d: < I WU 1 &t i F1d HIfAT |

35. (@) THAP.FH11af T 17d9CAIICA3: 48 |THAP. F5aTeHI 219U H
AT 1A HIAC | T8t 5 UG % AN B ggA 21 TSl o IR T A A T
HIT |
Froa
(a) 250 w1231 (logs) I & & ®I T 36 YR W AT 8
g i aTeft ufe o 22 T3, SUH STl Ufed H 21 ©1es, IHH 3nTeft ufe § 20
L3, 3G (STThid <) F 250 e fohart uferat o W@ 7w & e ed SHult

ufer # fepan oad & 2
(Example)
WU -
(SE TUS | 3 THIUT 31T/ Uese SNURA T ¢ | TH U9 H 4 3T 2 1)
TEFIUT ST

36. el IY <l Ueh JEdeh [S9TE hid T, Teh f31e1h o Ueh BT U hal fob WIel o &t ol
I & o e fopeft fomiv et 1 a8 3R =S &l x 18 a1 o S & | g
qﬁﬁl8cmﬂ'®°f3ﬁ?120m€ﬁ?ﬁél
3LIeRd o TR W w9t o ST i
(D)  I9URd TR <hl S ITeAT ek stoi 1T THieRoT fIfige | 1
(1) @ feema afieror o1 g &9 1 fefigu | 1
(III) §i¢ §Y I < AT FAT & FTMEY ? 2

18 cm

School 12 cm
Photo

X

an
T 2 1 hI1S TIHT HH, T &Thel sl 220 cm?2 & ST 971 Jehdl 8 2
30/1/1 AN Page 18
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34. A chord of a circle of radius 14 cm subtends an angle of 60° at the centre.
Find the area of the corresponding minor segment of the circle. Also find
the area of the major segment of the circle.

35. (a) The ratio of the 11th term to 17th term of an A.P. is 3 : 4. Find the
ratio of 5th term to 215t term of the same A.P. Also, find the ratio of
the sum of first 5 terms to that of first 21 terms.

OR
(b) 250 logs are stacked in the following manner :
22 logs in the bottom row, 21 in the next row, 20 in the row next to it
and so on (as shown by an example). In how many rows, are the 250
logs placed and how many logs are there in the top row ?

(Example)

SECTION - E
(In this section, there are 3 case study/passage based questions.
Each question is of 4 marks.)
Case Study
36. While designing the school year book, a teacher asked the student that
the length and width of a particular photo is increased by x units each to
double the area of the photo. The original photo is 18 cm long and 12 cm

wide.
Based on the above information, answer the following questions :
(I) Write an algebraic equation depicting the above information. 1
(II) Write the corresponding quadratic equation in standard form. 1
(IIT) What should be the neV\{ Egilimensions of the enlarged photo ? 2
X cm
School 12 cm
Photo
X
OR B
Can any rational value of x make the new area equal to 220 cm? ?
30/1/1 AN Page 19 P.T.O.
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37. WRd 9req fosm fovm ganr ew o fafir Su-geen 4 gt oy giad) 3 arfifes owi egan @ |

g I TNOTHT <l T TR Treeror e # weg siar g | = § T8 aifershl Iu-Heaan
2018 T gyaHt (argd) ant (fr. . ) feardht 2

T (mm W) Iq-HSA hl TEA
200-400 2
400-600 4
600-800 7
800-1000 4
1000-1200 2
1200-1400 3
1400-1600 1
1600-1800 1
TR T o TR I, e o & I i
) g i forfam | 1
(IT) few TTu HAiehgi 1 ATErh 1 HIT | 2
JrereT
39 e | g3 H1ET 991 7 ShifeTg |
(AIT) =fg oTEE & Hem § %8 ¥ S5 1000 mm 7 dTet IU-TSd sl T3 a1 d1elt
IT-HEA WHT ST &, T Fehe IT-weai H 1=t ol 53 ? 1
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37. India meteorological department observes seasonal and annual rainfall

every year in different sub-divisions of our country.

It helps them to compare and analyse the results. The table given below

shows sub-division wise seasonal (monsoon) rainfall (mm) in 2018 :

Rainfall (imm) | Number of Sub-divisions
200-400
400-600
600-800
800-1000

1000-1200
1200-1400
1400-1600
1600-1800 1

IR N SN S

Based on the above information, answer the following questions :
(I)  Write the modal class.
(II) Find the median of the given data. 2
OR
Find the mean rainfall in this season.
(IIT) If sub-division having at least 1000 mm rainfall during monsoon
season, is considered good rainfall sub-division, then how many sub-

divisions had good rainfall ? 1

30/1/1 AN Page 21 P.T.O.
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38. HahT theh Ush UH] BT & T8 Teh Trefie waehl thehl o1 TITH LT & | TUAIC Tsh Hehel
H T 3¢ SR STaTa gudl 8, R TaehT Bigdl ® | B W, JdhT SE-1@T % 91
AT T8 el | el ST 2 |

& 7% 3TTehTd |, g O FTt 3R 75 cm Frsan a1e 99 W AB UH € T T9i-@i R,
ZABO = 30° 3R PQ || OA.

IR FET o ST W :

(2) AB ! TS FT@ HINT | 1
(b) OB ! TS T HIT | 1
(c) AP i s I SHitT | 2

YA

PQ 1 TFTE [T 1T |

30/1/1 AN Page 22
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38. The discus throw is an event in which an athlete attempts to throw a
discus. The athlete spins anti-clockwise around one and a half times
through a circle, then releases the throw. When released, the discus
travels along tangent to the circular spin orbit.

In the given figure, AB is one such tangent to a circle of radius 75 cm.
Point O is centre of the circle and ZABO = 30°. PQ is parallel to OA.

Based on above information :
(a) find the length of AB.

(b) find the length of OB. 1
(¢) find the length of AP. 2
OR
find the length of PQ.
30/1/1 AN Page 23
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2023
MATHEMATICS PAPER CODE 30/1/1

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully.
2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them.

4 The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be awarded
accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

6 Evaluators will mark ( ') wherever answer is correct. For wrong answer CROSS X’ be marked.
Evaluators will not put right (v') while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.
9 In Q1-020, if a candidate attempts the question more than once (without canceling the previous

attempt), marks shall be awarded for the first attempt only and the other answer scored out
with a note “Extra Question”.

10 In 021-038, if a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra Question”.

11 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

12 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Question Paper)

has to be used. Please do not hesitate to award full marks if the answer deserves it.

1
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13 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines). This is in view of the reduced syllabus and number of
questions in question paper.

14 Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

15 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (O)Marks.

16 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

17 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

18 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

19 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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MARKING SCHEME
MATHEMATICS (Subject Code-041)
(PAPER CODE: 30/1/1)

Q. No. EXPECTED OUTCOMES/VALUE POINTS Marks
SECTION A

Questions no. 1 to 18 are multiple choice questions (MCQs) and questions
number 19 and 20 are Assertion-Reason based questions of 1 mark each

1 The graph of y = p(x)is given, for a polynomial p(x). The number of
" | zeroes of p(x) from the graph is

(A) 3 (B) 1 (C) 2 (D) 0

>

y =p)
y

Sol. |(B)1 1
2 The value of k for which the pair of equations kx=y+2and 6x=2y+3
has infinitely many solutions,

(A)is k=3 (B) doesnotexist (C)isk=-3 (D)isk=4
Sol. | (B) does not exist 1
3. If p—1,p+ 1land2p + 3 arein A.P., then the value of p is
(A) -2 (B)4 €0 (D)2
Sol. [(C)0 1
4 In what ratio, does x-axis divide the line segment joining the points
' A(3,6) and b(-12,-3) ?
(A)1:2 (B) 1:4 (C) 4:1 (D) 2:1

3
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Sol. [(D)2:1 1
5 In the given figure, PQ is tangent to the circle centred at O.
If Z~AOB =95, then the measure of ZABQ will be

(A) 475 (B) 42.5° (C) 85° (D) 95°
Sol. | (A)475° 1
6. If 2tan A =3, then the value of 4S!n A+3cos A is
4sin A—3cos A
(A) — (B) — ©) 3 (D) does not exist
7 i
Sol. |(C)3 1
7. If «, B are the zeroes of a polynomial p(x)=x*+x—-1, then i +% equals to
-1
(A1 (B)2 € -1 (D) >
Sol. |(A)1 1
8 The least positive value of k, for which the quadratic equation
' 2x? +kx—4 =0 has rational roots, is
(A) +24/2 (B) 2 (C) +2 (D) V2
Sol. |(B)2 1

9. Etan2 30° —sec® 45° +sin® 600} is equal to

(A) -1 (8) g ©) ‘73 o) X

Sol. | (A)-1 1

MS_X_Mathematics_041 30/1/1 2022-23
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Curved surface area of a cylinder of height 5 cm is 94.2 cm 2. Radius of the

10. cylinder is (Take 7 = 3.14)
(A)2cm (B)3cm (C)29cm (D) 6 cm
Sol. |(B)3 1
11, The distribution below gives the marks obtained by 80 students on a test :
Marks Less Less | Less Less Less | Less
than 10 | than | than | than40 | than | than
20 30 50 60
Number of 3 12 27 57 75 80
Students
The modal class of this distribution is :
(A) 10-20 (B) 20-30
(C) 30-40 (D) 50-60
Sol. | (C)30-40 1

12 The curved surface area of a cone having height 24 cm and radius 7 cm, is
(A) 528 cm 2 (B) 1056cm?  (C)550cm? (D) 500 cm 2

Sol. | (c)550cm? 1

13. | The distance between the points (0,2v5) and (—2+/5, 0) is
(A) 2v/10 units ~ (B) 4v/10units  (C) 2v/20 units (D) 0
Sol. | (A) 2v10 units 1

14. | Which of the following is a quadratic polynomial having zeroes _?2 and %?

(A) 4x° -9 (B)g(9x2+4) ©) x2+% (D) 5(9% - 4)

Sol. | (D) 5 (9x2 - 4) 1
15 If the value of each observation of a statistical data is increased by 3, then the
" | mean of the data
(A) remains unchanged (B) increases by 3
(C) increases by 6 (D) increases by 3n
Sol. | (B) increases by 3 1

5
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Probability of happening of an event is denoted by p and probability of non-

16.
happening of the event is denoted by . Relation between p and q is
(A) p+gq=1 (B) p=1g=1
(C) p=qg-1 (D) p+q+1=0
Sol. [(A)p+q=1 1
17 A girl calculates that the probability of her winning the first prize in a lottery
' is 0.08. If 6000 tickets are sold, how many tickets has she bought?
(A) 40 (B) 240 (C) 480 (D) 750
Sol. | (C) 480 1
18 In a group of 20 people, 5 can't swim. If one person is selected at random,
" | then the probability that he/she can swim, is
3 1 1
A) — B) = )1 D) =
A) 5 (B) 3 © ©) 7
Sol. |(A) 3/4 1

Assertion-Reason Type Questions

In Question 19 and 20, an Assertion (A) statement is followed by a

statement of Reason (R). Select the correct option out of the following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.

19. | Assertion (A): Point P (0, 2) is the point of intersection of y-axis with the
line3x + 2y = 4.

Reason (R): The distance of point P (0, 2) from x-axis is 2 units.

(B) Both Assertion (A) and Reason ( R) are correct but Reason ( R) is

Sol. . .
not the correct explanation of Assertion (A)

MS_X_Mathematics_041 30/1/1 2022-23
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20 Assertion (A): The perimeter of AABC is a rational number.
Reason (R): The sum of the squares of two rational numbers is always
rational.

Sol. | (D) Assertion (A) is false but Reason (R) is true 1

SECTION B

This section comprises of Very Short Answer (VSA) type questions of 2
marks each.
21(a) Solve the pair of equations x =3 and y =—4 graphically.

Sol. | Correct graph of both the equations. 1

Solution of equation isx =3,y =—4 1

OR

21(b) Using graphical method, find whether following system of linear equations
" | is consistent or not:

x=0 and y=-7

Sol. | Correct graph of y=—7 and x =0 1
Asy =-—T7is intersecting x =0 at (0, — 7)

So, system of equations is consistent 1
22 In the given figure, XZ is parallel to BC. AZ=3cm, ZC =2 cm,
" | BM =3 cm and MC =5 cm. Find the length of XY.

.
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A
7 / B \
B N > C
1
Sol. |As XZ| BC Thereforeﬂ=§=£—(i) &
XB 2 ZC
A AXY ~ A ABM Y
AX _ XY 3 _ XY &
AB  BM 5 3
9 &
= XY =Eor 1-8cm
23(a). | If sin0+cosezx/§ , then find the value of sin@-cosé .
Sl 1sinp +cos0 =3
squaring both sides
sin2 6 + cos2 0 + 2 5in6 cos O = 3 1
=1+2sin6cosO=3 Ya
1
=sinBcosO=1 %
OR
. 1 .
23(b). | If sina= ﬁand cotp= \/§ , then find the value of coseca+ cosecf3

MS_X_Mathematics 041 30/1/1 2022-23
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Sol. Y

cosec o=+ =2 ’
sin o
cosec = y1+cot? B =1+3 =2 1
Y
COSec o + cosec B = /2 + 2 0r +/2 (V2 +1)
24 Find the greatest number which divides 85 and 72 leaving remainders 1 and
" | 2 respectively.

Sol We have to find HCF of 85 -1 =84 and 72 -2 = 70. 1
HCF of 84 and 70 = 14 1

o5 A bag contains 4 red, 3 blue and 2 yellow balls. One ball is drawn at random
from the bag. Find the probability that drawn ball is
(i) red (i) yellow.

Sol. Total No of Balls=9
(i) P(drawn ball is red) = % 1
(ii) P(drawn ball is yellow) = % 1

SECTION C
This section comprises of Short Answer (SA) type questions of 3 marks
each.
26 Half of the difference between two numbers is 2. The sum of the greater
' number and twice the smaller number is 13. Find the numbers.

Sol Let the numbers be x andy, x >y
Therefore % x-y)=2 — (i) 1
and 2y +x =13 — (i) 1
Solving equations (i) and (ii)
X=7,y=3 1

9
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21. Prove that \/g is an irrational number.

Sol. | Let /5 be a rational number.

/5 = % , where q#0 and let p & q be co-primes. 2

502 = p? = p? is divisible by 5 = p is divisible by 5

= p = 5a, where ‘a’ is some integer = ----- (1)

25a% = 50° = ¢ = 5a% =q? is divisible by 5 = q is divisible by 5 y
= q = 5b, where ‘b’ is some integer = ----- (i)

(1) and (ii) leads to contradiction as ‘p’ and ‘q’ are co-primes.

= +/5 is an irrational number.
If (-5,3) and (5,3) are two vertices of an equilateral triangle, then find

coordinates of the third vertex, given that origin lies inside the triangle. (Take

J3=17)

28.

Let the third vertex be (x,y)
Anis 3 Bei53 A ('5!3) 8(5’3) C(X’y)
AB=10=AC !

Sol.

TN T (52 (3)R= (X)) 1
20x =0

Yo

x=0

(3-y)*=75
3-y =453
y=3-513
y=-55

1
The coordinates of the third vertex are (0,-5.5) %

Two tangents TP and TQ are drawn to a circle with centre O from an external

29(a). :
point T. Prove that /PTQ =2Z0PQ .

MS_X_Mathematics_041 30/1/1 2022-23
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T
Q
sol. | TP=TQ
= /TPQ=/TQP 1
Let £ PTQ be
= /TPQ=£TQP="2-2=90°- 1
Now ~ OPT =90°
= ZOPQ=90° - (90°-3) =7
/PTQ =2 2 OPQ 1
OR

29(b) In the given figure, a circle is inscribed in a quadrilateral ABCD in which
" | ZB=90°. If AD=17 cm, AB = 20 cm and DS = 3 cm, then find the radius of
the circle.

D S

11
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Sol.

DR=DS=3cm

AR=AD-DR=17-3=14cm
= AQ=AR=14cm

QB=AB-AQ=20-14=6¢cm

SinceQB=0P=r .. radius=6cm

Y2

Ya

Ya

Ya

30.

tand+secfd—1 1+sind

Prove that: =
tan @ —sec@ + 1 cosd

Sol.

(tan 6 + sec 0) - (sec?0 - tan? )

LHS=
tan 6 -sec 6 + 1
__(tan 6 + sec 0) (1 - sec 6 + tan 6)

tan 6 -sec 6 + 1

=tanf + secl

_1+sin6
cos 6

=RHS

Yo

Yo

31(a).

A room is in the form of cylinder surmounted by a hemi-spherical dome.
The base radius of hemisphere is one-half the height of cylindrical part.

Find total height of the room if it contains [%j m°® of air. Take

-2
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Sol. | Let h be height of cylindrical part and r be radius of hemisphere Yo

Volume of room =2zr? +gﬁr3 — 1408 1
3 21

=r=2 v,

Therefore, h=4 Y,

Height of the room is = 6m 1y

OR
31(b) An empty cone is of radius 3 cm and height 12 cm. Ice-cream is filled

th
in it so that lower part of the cone which is (%} of the volume of the

cone is unfilled but hemisphere is formed on the top. Find volume of the
ice-cream. (Take 7 =3.14)

Sol- | \olume of the cone = = %x;rx9><12 =367zcm’ !
Volume of ice-cream in the cone = 2 X 36 X T = 30mcm? Yo
Volume of ice-cream on top = g X 27 X T = 18mwcm3 1
Total volume of the ice-cream = (307 +187) = 48zcm®
=48x3.14 =150.72cm’ 1

SECTION D
This section comprises of Long Answer (LA) type questions of 5 marks
each.
13
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32 If a line is drawn parallel to one side of a triangle to intersect the other
" | two sides at distinct points, prove that the other two sides are divided in
the same ratio.
Sol. | Correct Given, to prove, figure, construction 2
Correct proof 3
33(a) The angle of elevation of the top of a tower 24 m high from the foot of
" | another tower in the same plane is 60°. The angle of elevation of the top
of second tower from the foot of the first tower is 30°. Find the distance
between two towers and the height of the other tower. Also, find the
length of the wire attached to the tops of both the towers.
Sol. | 1° ¢
1 mark
for
F correct
24 m -
el NN D figure
h
300 600
A < *C
Let AB and CD be the given towers.
1 h .
tan 30°= —— = ~ = x=h+/3 i 1
7B x _ (@
tan60°:\/§:2—4:>x:2—40r8\/§ (ii)
X \/§ - 1
using (i) and (ii)
x=8+/3 andh=8 1+1
2 2
length of wire = \|BE2 + x% = /256 +192 = /448 m =87 m 1
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OR
33(h) A spherical balloon of radius r subtends an angle of 60°at the eye of an
" | observer. If the angle of elevation of its centre is 45°from the same point,
then prove that height of the centre of the balloon is ~/2 times its radius.
Sol.
1 mark
for
correct
figure
Let Point B represents observer.
. Z QBP =60° £ ABO =45°
Using geometry ~ PBO = % x 60° = 30° 1
roo_ . 1 _ :
Now, — =sin30°= = = OB =2r — (i)
OB 2 1
OA . 1 ..
Also = =sin45°= — = OB=0A 2 (ii 1
OB V2 )
Using (i) and (ii) OA = V2 r 1
or height of center of balloon = +/2 r units
34 A chord of a circle of radius 14 cm subtends an angle of 60° at the centre.
' Find the area of the corresponding minor segment of the circle. Also find
the area of the major segment of the circle.
Sol. Area of minor segment = §x14x14xﬂ—lxl4xl4x£ 1+1
7 360 2 2
- (%8 —49\/§j cm? or 17.9cm? 1
15
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Area of major segment = ? X 14 x 14 — (308 49\/_)

= 616—@+ 493 1
(15;0 +493 ) cm?or 598.1cm? 1
35(a) The ratio of the 11" term to 17" term of an A.P. is 3:4. Find the ratio of
" | 5™term to 21%term of the same A.P. Also, find the ratio of the sum of
first 5 terms to that of first 21 terms.
Sol. Given a +10d = g 1
a +16d 4
= 4a + 40d = 3a + 48d 1
—a=8d (i)
therefore 25 = 2 +4d _z using( i)
8.21 a+20d 7 1
ag @ an] = 3:7
5 2 4d
ss _ o aT4d) 5,004 _ 25 )
2
Therefore, S5:S21=25:189
OR

35(b). 250 logs are stacked in the following manner:

22 logs in the bottom row, 21 in the next row, 20 in the row next to it and so
on (as shown by an example). In how many rows, are the 250 logs placed and
how many logs are there in the top row?

Sol.
Let the number of rows be n.

A.P. formed is 22, 21, 20, 19, .........
MS X Mathematics 041 30/1/1 _2022-23
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Herea=22,d=-1Sn=250 1
. 250 = %[44+(n—1) 1] 1
2 1
= n4-45n+500=0
= (M-25)(n-20)=0
n=25..n=20 1
logs in top row =asn=22+19(-1) =3 1
SECTIONE
This section comprises of 3 case-study based questions of 4 marks each.
36 While designing the school year book, a teacher asked the student that the
| length and width of a particular photo is increased by X units each to double
the area of the photo. The original photo is 18 cm long and 12 cm wide.
Based on the above information, answer the following questions:
(I) Write an algebraic equation depicting the above information.
(1) Write the corresponding quadratic equation in standard form.
(111) What should be the new dimensions of the enlarged photo?
k A 18 an
Schonl
Dot 12 an
A
OR
Can any rational value of X make the new area equal to 220cm®
Sol (i) (18 + x) (12 + x) = 2(18 x12) 1
(ii) x2 + 30x — 216 = 0 .
(iii) Solving : x2 +30x —216=0
= (x+36)(x-6)=0
X #-36 -=> X=6. 1
new dimensions are 24 cm x 18 cm 1
17
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OR
(iii) 1f (18 + x) (12 + x) = 220

then x2 + 30X — 4 =0
Here D =900 + 16 = 916 which is not a perfect square.

Thus we can’t have any such rational value of x.

37 India meteorological department observes seasonal and annual rainfall
every year in different sub-divisions of our country.

b iier
e

It helps them to compare and analyse the results. The table given below shows
sub-division wise seasonal (monsoon) rainfall (mm) in 2018:
Rainfall (mm) Number of Sub-divisions

200-400 2
400-600 4
600-800 7
800-1000 4
2
3
1

1000-1200
1200-1400
1400 -1600
1600-1800 1

Based on the above information, answer the following questions:
(1) Write the modal class.
(11 Find the median of the given data.
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OR
(1) Find the mean rainfall in this season.
(1) If sub-division having at least 1000 mm rainfall during monsoon season,
is considered good rainfall sub-division, then how many sub-divisions
had good rainfall?
Sol. Q) Modal Class is 600-800 1
(ii) 5 = 12, median class is 600 — 800 Yo
Rainfall Xj f; cf.
200 — 400 300 2 2
400 — 600 500 4 6
600 — 800 700 7 13
800 — 1000 900 4 17
1000 — 1200 1100 2 19
1200 — 1400 1300 3 22 V) for
1400 — 1600 1500 1 23 correct
table
1600 — 1800 1700 1 24
24
Median = 600 + @ (12-6)
=20 or 771-4 1
OR
(ii)
Rainfall X; f; fix;
200 - 400 300 2 600
400 - 600 500 4 2000
19
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600 — 800 700 7 4900
800 — 1000 900 4 3600
1000 — 1200 | 1100 2 2200 1 for
correct
1200 — 1400 | 1300 3 3900 table
1400 - 1600 | 1500 1 1500
1600 — 1800 | 1700 1 1700
24 20400
Mean = 20400 _ 850 1
1

(iii) Sub-divisions having good rainfall =2 +3+1+1=7.

38 The discus throw is an event in which an athlete attempts to
throw a discus. The athlete spins anti-clockwise around one and

a half times through a circle, then releases the throw. When released,
the discus travels along tangent to the circular spin orbit.

.

...~ Tangent

=
-t .
o -
-

line

s

In the given figure, AB is one such tangent to a circle of radius 75 cm. Point
O is centre of the circle and ZABO =30°. PQ is parallel to OA.
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Based on above information:
(@) find the length of AB.
(b) find the length of OB.
(c) find the length of AP.

OR
Find the length of PQ

Sol.

. 1
(tan30°= — = 1

V3 AB

— AB =75+/3 cm

iiVsin 30° =+ = 72>
(if)sin 30 =2 =05

= OB =150 cm

(iii) QB=150-75=75cm
= Q is mid point. of OB

Since PQ Il AO therefore P is mid point of AB

Hence AP = % cm
OR
(ili) QB=150-75=75cm
Now, A BQP ~ A BOA

QB _ PQ
OB 0A
1

N[, N[ N[k Nk

N[
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